CH 222 Spring 2009
Exam 2
Print your name:__________________________________

Mark your name and answers on the scantron sheet.
Part. I   (80 pts) Four out of these twenty questions will be counted as bonus questions.
1. Predict the major product of this reaction sequence shown below.
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2. What is the structure that produces only these products upon ozonolysis?
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3. What is the IUPAC name for this compound?
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(a). (E)-1-bromo-1-fluoropent-1-ene (b) (Z)-1-fluoro-1-bromopent-1-ene

(c) (E)-1-fluoro-1-bromopent-1-ene  (d) (Z)-1-bromo-1-fluoropent-1-ene

(e) none of these answers



4. Which reagent(s) will effect this synthesis?
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5. What is the expected product(s) for the reaction shown?
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6. What is the expected product(s) for the reaction shown? 
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7. What is the expected product for the reaction shown?
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8. What is the expected product for the reaction shown?
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9. What is the expected product for the reaction shown?
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10. What is the formal charge at the indicated nitrogen atom?


[image: image10.emf]C N CH

3


(a) 0 (b) +2  (c) +1 (d) -2 (e) -1
11. Which is the transition state for the following reaction?
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12. Predict the major product from the reaction shown.
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13. Predict the major product from the reaction shown.
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14. Predict the major product from the reaction shown.
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15. Which of the following is optically active?
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16. What is the relationship between these two structures?
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(a) constitutional  (b) conformational (c) diastereomers (d) enantiomers (e) identical 

17. Predict the major product from the reaction shown.
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18. What is the monomer of the polymer?
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19. Predict the major product from the reaction shown.
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20. Predict the major product from the hydroboration reaction shown.
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II. Predict the major organic product(s) with correct stereo- and region-chemistry if applicable of each of the following synthesis (15 pts)
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III.  Mechanism (5 pts)

On your answer sheet, write a mechanism to explain the formation of the indicated product for each of the following reaction. Predict the product if needed. Show structures (with proper stereochemistry if applicable) for all reactive intermediates and indicate the direction of electron flow in all bond-forming and bond-breaking steps by means of curved arrows. 

24. 


[image: image24.emf]CH

3

OH

H

+

/H

2

O

CH

3

O








PAGE  
6

_1298614959.cdx

_1298616455.cdx

_1298617728.cdx

_1298620359.cdx

_1298620808.cdx

_1298620876.cdx

_1298621067.cdx

_1298620672.cdx

_1298619901.cdx

_1298620055.cdx

_1298619614.cdx

_1298616907.cdx

_1298617466.cdx

_1298616679.cdx

_1298615585.cdx

_1298615860.cdx

_1298615240.cdx

_1298613484.cdx

_1298613945.cdx

_1298614254.cdx

_1298613728.cdx

_1298612295.cdx

_1298613184.cdx

_1298611803.cdx

